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Question No. 1
ﬁmﬁ#ﬁmw@mwmvﬁmmﬁw#mmy&mmﬁmmmﬁ
A)3TeR-sTiaeT gHSAr B)9eTT HHSIAT
C) el Tasitar D)eo@a13 FHSIAT

Which of the following agreements was signed between Gandhi and Ambedkar that granted new rights to

untouchables?

A)Gandhi-lrwin pact B)Poona pact

C)Delhi pact D)Lucknow pact

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 1) (objection.aspx?qwr=3210111049&qwer=1)

Question No. 2
ffaf@a &7 & A gaar A FEuEgEE 96 #R A BT v geew & e &1 Rl Feelr g o
AHRET HAF & 99 F v e Arags Qe 1w §1 9faemh & 3raea & () F7 & F7 50% 3iFF & a7
wiraw @l (i) T afier F w0 & F7 40% 3iF wroT & (i) 10 ¥R, 1996 F wgvcsT g 24 a§
4 3R fFar g 29 af F HAF A e ARCI (v) FA F FA & a6t TF AHRET FFN F ¥ F
FH FG H I gl Bl W AeTer F ST 3NEaR W ATNEs Fr qu wand @ fRare (v) &, ofde
3P U ARHIEI YateT F IS BoelldAr &), af 38 A Y HgT YU, AKRT & I A= geml her 0
A # SE 3FgaR Wl ATIEs A Q@ Faneh g Rare (i) ¥, AfteeT 3ue A wfed & w7 A A
st g FIF FAT @, O 3TF A B RN, AT F 9 AT B9l IFOT B HARr: B A qdaw ik
AT olem # 60% 31 40% 3 WIeT §U &1 SEH SeA-fAfy 17 3iher 1963 &1 ag Roer 2
A)IFHIGAR FT TIT T8l TohdT ST Tehcll & B)3FHicaR &I HGT Uatleh, HARKICT & I Ao ST
gram|
C)3¥HIcar &I fAged fomar e anfgw D)3FHIGar & faicer, AR & 91 Aol ST giem|
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Following are the criteria for selecting a marketing officer by a company. The candidate must: (i) Be a
graduate with at least 50% marks. (i) Have secured at least 40% marks in the written test. (jii) Not be less
than 24 years and not more than 29 years as on 10 December, 1996. (iv) Have work experience of at least
two years as a marketing officer. In case a candidate satisfies all the other criteria EXCEPT (iv), but has a
diploma in Marketing Management, his/her case is to be referred to the General Manager, Marketing. In case
a candidate satisfies all the other criteria EXCEPT (iii), but has worked as a marketing officer at least for three
years, his/her case is to be referred to the Director, Marketing. Arun has secured 60% and 40% marks
respectively in the degree examination and in the written test. His date of birth is 17 April, 1963. He has been
working in an organization as a marketing officer for the last 2 years.

A)The candidate cannot be appointed B)The candidate has to be referred to the General

Manager, Marketing

C)The candidate has to be appointed D)The candidate has to be referred to the Director,
Marketing
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3210111049&qwer=2)

Question No. 3
Ffaeg, arem AR Fear & < $.8100 0 yHR F & 0 F Afaeg F BEY #1172, aor & Ry &7 1/3 3R
A & R &7 1/4 TR § 3fAeg & BEY 1 gar aeng|
A)%.2400 B)%.1000
C)%.1800 D)%.1500

Divide Rs.8100 among Anirudh, Bala and Suresh such that 1/2 of Anirudh's share, 1/3 of Bala's share and 1/4
of Suresh's share are equal. Find the share of Anirudh.

A)Rs.2400 B)Rs.1000
C)Rs.1800 D)Rs.1500
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3210111049&qwer=3)

Question No. 4

ag oA et O g o9 E § FEfea g

AYdd : & B)faegd : @efieT

C)UTaiY : el D)3iferdiet : Shae

Find the ODD one out.

A)Qil : Lamp B)Power : Machine

C)Water : Tap D)Oxygen : Life

Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3210111049&qwer=4)

Question No. 5
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39 WA #, T FYT F a1 A fswd Ru aw §) afFs &0 § ga@ sRa Aswd gfaw) wuer 1) qah
Rfeedl, Fow §1 2) o e, Fowr §1 3) Wt asF, el §) s | wh Fom, @55 1 1. 7o

fcaar, [@elr &
A)fasay | 3R 1 QT greleT R B B)ahad fshy | UreleT AT gl
C)Fad faswy |l grefeT T ¢ D)y | 3T Il & & FE 3 shY G ureld S

gl

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All cats are pens. 2) Some toys are pens. 3) All boys are toys. Conclusions: I. All
pens are boys. Il. Some cats are toys.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Only conclusion Il follows D)Neither conclusion | nor Il follows
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3210111049&qwer=5)

Question No. 6

o & afFa r A AT Far §?
A) Tt B)3riTex
C)Fesar D)dAT

How is the power of lens measured?

A)Aeon B)Dioptre
C)Candela D)Lumen
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3210111049&qwer=6)

Question No. 7

Iy Ty §&r & 1/4 30K 38 & & 1/6 & & 7 AW 3 &, dr g A9 ffow|
A)38 B)34
C)36 D)32

If the difference between 1/4 of a number and 1/6 of the same number is 3, then find the number.

A)38 B)34
C)36 D)32
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3210111049&qwer=7)

Question No. 8
AZAT Agaredl frfaf@a 7 ¥ 5y @ & g&fta &2
A)csd cfaa B)Gediel
C)ssfea D)fshehc
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Saina Nehwal is associated with which of the following sports?

A)Table tennis B)Foot ball
C)Badminton D)Cricket
Answer Key : C Your Response : C (Correct) Raise Objection(Question No. 8) (objection.aspx?qwr=3210111049&qwer=8)

Question No. 9
g A AR g A FT S g H MNAFR A B ¥ N § A F B & AT F 3G AT Ao
A6 : 1 B)8 : 1
C)4 : 1 D)2 : 1

The diameter of spherical metal ball A is twice that of spherical metal ball B. Find the ratio of volumes of A to

B.

A)6 : 1 B)8 : 1

C):1 D)2 :1

Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3210111049&qwer=9)

Question No. 10
S@er # qx FI| 75, 63, 52, 42, 33, 25, (.)
A)16 B)19
C)18 D)17

Complete the series. 75, 63, 52, 42, 33, 25, (...)

A)16 B)19
C)18 D)17
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 10) (objection.aspx?qwr=3210111049&gwer=10)

Question No. 11

el avg & aera e AR SR e F @ IR $.300 ¥ IfE amT 25% B, o 9w @ e e a

ffaw|
A)%.1550 B)%.1340
C)%.1500 D)%.1450

The difference between the cost price and the selling price of an article is Rs.300. If the profit is 256%, find the
selling price of the article.

A)Rs.1550 B)Rs.1340
C)Rs.1500 D)Rs.1450
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3210111049&qwer=11)

Question No. 12
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3 WA A, T HYA § 915 o AsHY 9w S §) 39 Oy F g S S THEd § @ @ 51 gl
FYA: TH SlaeT Hael Gol dga1 dTel GEl F YR Fl ¢ S el o9l F FROT @1 g1 v 7, fazam, &
W T § G 9% @ & e 1) St g@rt e & sTaR fRar sar 1 1) ST o e & 3wER

e
AT ar fasey | 3R & & 1l greleT Far gl B)dhad SRy || UTeled &aT &l
C)dhae sy | UTefeT T B D)feshy | 3R Il g1t arelel ad gl

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: A doctor nurses only the bleeding wounds which are caused by bullets. A patient, Nithya,
is bleeding profusely. Conclusions: 1) Nithya is nursed by the doctor. Il) The doctor did not nurse Nithya.

A)Neither conclusion | nor Il follows B)Only conclusion Il follows
C)Only conclusion | follows D)Both conclusions | and Il follow
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3210111049&qwer=12)

Question No. 13

ENsh Ry 39T Tsifas & AT A7
A)FTer T e B)GIEIHTS =ARTSir
C)Hged Mfdg =T D)dTel MR e

Whom did Gandhiji consider as his political guru?

A)Gopal Krishna Gokhale B)Dadabhai Naoroji
C)Mahadev Govind Ranade D)Bal Gangadhar Tilak
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3210111049&qwer=13)

Question No. 14
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TF R FI F99 TF IR AT FIF 6T ¢ AT FF AT @ 7

T (AT DT
- &4 B
(1) 2) 3)
<> Hh
4 )] (6)
A, L3 2456 B. |ue& 2453
C. 5 2,4 36 D. [T & &S a6

Group the given figures into three classes using each figure only

o1ce.
A7 &
(1) (2) 3)
<> 4
@ (5) (6)
A, L3 24506 B. |ue 24,53
C. 1.5 2.4; 3,6 D. [Moneofthese
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3210111049&qwer=14)

Question No. 15
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“f g qIOTST BT AT HY MY A1 [T ML UY FTITX S|
FafafEa ol 79 auf & vu & teoited Te gaeTsl & USRI &I guit 21

TS U & g9l @ TS 9E S gueAny

FueIS & UeR
ad

Balgdl @1 HEl T Ursm®e HE

“ 6000 6600 20300 31700
7000 7700 22100 36000

2600 2500 23400 38000

7900 8600 32000 37000

6500 7300 18200 20300

a4 2016 ¥ 2017 d® gdlgd! &I YA & AT Wi H fea-i ol g2 "
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-

6% B. |8%

0

11% D [13%

Study the following table and answer the question given below it.
The following table represents the types of road accidents registered in a
state over the years.

Road accidents registered in a State

Types of Accidents

Years . ) . )
Casualties Serious Injurious Minor
2014 6000 6600 20300 31700
2015 7000 7700 22100 36000
2016 8600 8500 23400 38000
2017 7900 8600 32000 37000
2018 6500 7300 18200 29800

‘What is the approximate percentage reduction in casualities from the year

2016 to 20172

Question No. 16

A 6% B. 8%
C. 11% D. 13%
Answer Key: B Your Response : C (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3210111049&qwer=15)
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gfg Al AfRaa smr &, 'ENTRY' &) 12345 & &9 & #i5 fFar a=r § 3K 'STEADY' #r 931785 & &7 &
Hs Far ar §, o 3¢ ST # 'ENDEAR' & & #is fFar Sirar 87

A)174189 B)128174

C)524519 D)128983

If in a certain language, 'ENTRY' is coded as 12345 and 'STEADY" is coded as 931785, then how is
'ENDEAR' coded in that language?

A)174189 B)128174
C)524519 D)128983
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3210111049&qwer=16)

Question No. 17
U FART THAR T el 7 50% 3% AR § T §U, & e & °eT Tgd I Fied 9gd
ST ¥l 39 39t Frferr g F IR T R T e 82
A)2 & 30 faee B)3 ®er
C)1 & 30 e D)2 ®er

Walking at 50% more than his usual speed, a man reaches his office an hour earlier. How long does he
usually take to reach his office?

A)2 hours 30 minutes B)3 hours
C)1 hour 30 minutes D)2 hours
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 17) (objection.aspx?qwr=3210111049&qwer=17)

Question No. 18
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et & @ 3w wgfa # A A
T T HLET 2 E

——

#o T v Y Fr mEw IO

™
)

/TN

vV

Choose from the alternatives the figure that best completes the

pattern given below.

—T

/TIMN

™\
)
?

™

Answer Key: C  Your Response : C (Correct)

GET IT ON
Google Play

Raise Objection(Question No. 18) (objection.aspx?qwr=3210111049&qgwer=18)

Question No. 19

IMERed TRIAE Welt F AR F For fraar TeF Sha A2
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A)37
C)177
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B)69
D)98

How many medals did India win in the eighteenth Asian Games held in 20187

A)37
C)177

Answer Key: B Your Response : B (Correct)

B)69
D)98
Raise Objection(Question No. 19) (objection.aspx?qwr=3210111049&gwer=19)

Question No. 20

T RN FEIT F TN IRAT WS v e Ry A A =t &

Teh{adg HITAT|
O P X X -b-
1) ) 3) ) (5
-O— |°
(6) (7 (8) 9)
A, [L49 257 368 B. L5 7268 3,49
C. |57 24,9368 D. [ & &5 780
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Group the given figures into three classes using each figure only

once.
o [P X —O-
(1) (2) (3) (4) (5)
° ;|
(6) (7 8) (&)}
A, 14,9257 3,68 B. |57 268 3,49
C. W57 24,9368 D. |Noneofthese

Answer Key: B  Your Response : C (Wrong) Raise Objection(Question No. 20) (objection.aspx?qwr=3210111049&qwer=20)

Question No. 21

I Taed 1 =9 Ko S g (X) F A1E g w9 F 9gd AfdT T4 )

2 6
1Ooe 0

X) @ ® 6

A |®RFa B. |(@)¥aa

C. |(R) 3R (S) Faa D. |(®).(Q) 3T (3) Faa
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Choose the alternative which closely resembles the folded form of

figure (X).
%
///i
o
% )
NI/
x) @ Q@ ® 6
A, |(R) Only B. |(P)Only
C. |(R)and(S) only D. | (P), (Q) and (S) only
Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 21) (objection.aspx?qwr=3210111049&qwer=21)

Question No. 22

AT # @ F=r MY RT 0 FdY Fr Fe& g TF ¥ U FEM? CAT : DDY :: BIG : ?
A)CLL B)CEP
C)CML D)CLM

Which of the following will best complete the relationship given below? CAT : DDY :: BIG : ?

A)CLL B)CEP
C)CML D)CLM
Answer Key: A Your Response : D (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3210111049&qwer=22)

Question No. 23
i FEAT AR RE T Haer Hr Fad A /e F T FM? 5513025 = 11 :?
A)55 B)22
C)121 D)66

Which number will best complete the relationship given below? 5.5:30.25::11:?

A)55 B)22
C)121 D)66
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3210111049&qwer=23)

Question No. 24
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Rt el F Sedr 2019 & Awfaf@a 7 & fFa 8% w1 CEO 3k MD fagera fwar arrm 82
AfaFad s& B)3w d%
c)ICICI d& D)HDFC &%

Amitabh Chaudhary has been appointed the CEO and MD of which of the following banks from January

2019?

A)Axis Bank B)Yes Bank

C)ICICI Bank D)HDFC Bank

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 24) (objection.aspx?qwr=3210111049&qwer=24)

Question No. 25
il sl # FEuEiyEs o 3R i R e wa & 3ar &) 3 ik Oy, geala ik ot Sy
1 At AR @, dsfiee i frve doa §1 g 3R drver, fFe AR Pealer Aaa §1 3o 3R Raer, gk
3R e daa § Pfaf@a F & e dsfies, peater 3 gl Qo &7
A)SraeT B)g
C)feaer D)37%0T

Read the following information carefully and answer the question given below. Arun and Chandru play football
and hockey. Deepan and Dinesh play badminton and cricket. Chandru and Deepan play cricket and football.
Arun and Dinesh play hockey and badminton. Who among the following plays badminton, football and

hockey?

A)Deepan B)Chandru

C)Dinesh D)Arun

Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3210111049&qwer=25)

Question No. 26
IRa & @ # ¥ B o & 'R 3ite R war I 82
A)TIR B)si# & ®Ig fashod w7gT
C)Ix D)fstgarst

O\

Which of the following cities of India is known as 'City of Chillies'?

A)Tezpur B)None of the options
C)Guntur D)Vijayawada
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3210111049&qwer=26)

Question No. 27
fwa Fam|
AF B)B
C)E D)D
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Find the ODD one out.
A)F B)B
C)E D)D

Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3210111049&qwer=27)

Question No. 28

fawedt # @ 37 sl g S A= e v Yo F T =S
T [ AT 2

?
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Choose from the alternatives the figure that best completes the
pattern given below.

-
Al B
%
C. / D.
7
Answer Key: B  Your Response : C (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3210111049&qwer=28)

Question No. 29

3MTei ? $.10000 Fr 10% &M T { Whafe s W it auf & faw fader frar e avf & arq 3 Beaeh

TR greg gem?
A)%.13330 B)%.13310
C)%.13320 D)%.13340

Anand invested an amount of Rs.10000 at the rate of 10% per annum Compound Interest for a period of three
years. How much amount will he get after three years?

A)Rs.13330 B)Rs.13310
C)Rs.13320 D)Rs.13340
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3210111049&qwer=29)

Question No. 30
AT & caT Fr A9 F T FAeT F F B 39T F w2 FaAr Far 82
A)Ri#HeR B)Aea=iiex
C)ursi#HeR D)5 & FS fawed g

Which of the following instruments is used to measure the pressure of gases?
A)Barometer B)Galvanometer
C)Pyrometer D)None of the options
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Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3210111049&gwer=30)

Question No. 31

Rigar fre Tsrerer #r gfadr ware 47

INIEE LIRS B)ART

C)IsggRe D)deera

Bindusara was the second emperor fromthe ______ dynasty.

A)Vijayanagar B)Maurya

C)Rashtrakuta D)Pallava

Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3210111049&qwer=31)

Question No. 32

e AT Pfaf@a § ¥ R o F Rua &2
A)HTSE 3Tq B)=ATi&e
C)3satet D)#TaAIR

In which of the following cities is the Palitana temple located?

A)Mount Abu B)Nasik
C)Ujjain D)Bhavnagar
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3210111049&qwer=32)

Question No. 33

AT fher RS oRa & Fefaf@a & ¥ fFa 9w F Rya &2
A)TeTeRTT B)S IR
C)eeIeTg D)gor

Ramoji Film City is located in which of the following cities of India?

A)Kolkata B)Jaipur
C)Hyderabad D)Pune
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3210111049&qwer=33)

Question No. 34
I Rl TEAT ¥ 24 TR ST &, df I8 5UF 4/7 AR O FH @ 1T §1 39 TE&AT F 37! 1 A6T AT §?
A)11 B)1
C)12 D)9

When 24 is subtracted from a number, it reduces to its four-sevenths. What is the sum of the digits of that
number?
A)11 B)1
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C)12 D)9
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 34) (objection.aspx?qwr=3210111049&qwer=34)

Question No. 35
el o 3, 35% O 9 §U & 3N 455 el @ ¢ A et ol A alaw & 42
A)490 B)845
C)1300 D)700

In an examination, 35% of the students passed and 455 failed. How many students appeared for the
examination?

A)490 B)845
C)1300 D)700
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3210111049&qwer=35)

Question No. 36

39 oA F gl S agr waw aRifar ¥, Star Ru v &R R e gew 7 ¥ 3721 124
A)513 : 161 B)900 : 450
C)81 : 243 D)624 : 208

Choose the pair which shows the same relationship as in the pair given below. 372 : 124

A)513 : 161 B)900 : 450
C)81:243 D)624 : 208
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3210111049&qwer=36)

Question No. 37
FAR WU A 3medt sgeE F frael s ooF &2
A)14 B)16
C)22 D)12

How many languages are there in the eighth schedule of our Constitution?

A)14 B)16
C)22 D)12
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3210111049&qwer=37)

Question No. 38

AT Ru 7w Weal #F & fraed "4 @est" AT 1 wler fBFar Jrar 82
INEE T B)dsfies
C)grehr D)eaar efore

'Pen Holder' grip is used in which of the following sports?
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A)Cricket B)Badminton

C)Hockey D)Table Tennis

Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3210111049&qwer=38)

Question No. 39

Fegul T TSRO e 3 & fhw TsT & 31 31 &2
A)3caR TeT B) et
C)ALT yeur D) Ud AR

Which of the following states is connected with Kalhana's Rajatarangini?

A)Uttar Pradesh B)Rajasthan
C)Madhya Pradesh D)Jammu and Kashmir
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 39) (objection.aspx?qwr=3210111049&gwer=39)

Question No. 40
(68.237)? - (31.763) &I AT 7T MFATI
A)3647.4 B)3.6474
C)36.474 D)364.74

Find the value of (68.237)? - (31.763).

A)3647.4 B)3.6474
C)36.474 D)364.74
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3210111049&gwer=40)

Question No. 41
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3 faed 1 =4 RIS 511 sl (X) F 4972 g0 59 % agd Af*s 7917 2)

v
*

] ?

! [m] | * !

O o |, H :

X ® Q@ ® 6

A |(P) ¥ B. |(Q) %I

C. |R) = D. |(S)®aer

Choose the alternative which closely resembles the folded form of

figure (X).

v
*

F) ?

! o Y .y

O o |, ?

X)) ® Q@ ® 6

?

A. |(P)Only B. |(Q) Only
C. |(R)Only D. |(S)only
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 41) (objection.aspx?qwr=3210111049&qwer=41)

Question No. 42

210 #rex ot g7 63 freli/eer i AR A IAT W W &1 Read o IR & 7 Fdar ga7g J@em?
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A)12 TS B)14 @3
C)15 @3 D)18 §&s

A train 210 m long is travelling with a speed of 63 km/hr. How long will it take to pass a signal post?

A)12 seconds B)14 seconds
C)15 seconds D)18 seconds
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3210111049&qwer=42)

Question No. 43

tersfew &1 aRome ¢l
A)TFT FFfeerd STHART B)Iehd T Folel
C)gsar &r fART D) & A

What is the result of Hepatitis?

A)Blood disease B)Inflammation of liver
C)Bone disease D)Kidney disorder
Answer Key: B Your Response : A (Wrong) Raise Objection(Question No. 43) (objection.aspx?qwr=3210111049&qwer=43)

Question No. 44

SR & Ugell Afgem Isgufa Hler Ai?
A) TS arag B)3HT #RAT
C)ufasm arfeer D)sfeer aTeh

Who was the first woman President of India?

A)Sarojini Naidu B)Uma Bharati
C)Pratibha Patil D)Indira Gandhi
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3210111049&qwer=44)

Question No. 45
#fOr F v af & AT 3.15000 F 10% AqF A X F THTE saer W s fman ol sarer Hr aomr IRK-
aiffs ahgfed &7 & fr 7€ @, o af 6 FAT | AT Fr frae TR wroT @i
A)¥.16537.50 B)%.16550.50
C)%.18150 D)%.16540

Mani invested Rs.15000 with Compound Interest at the rate of 10% per annum for one year. If the interest is
compounded half-yearly, what amount will Mani get at the end of the year?

A)Rs.16537.50 B)Rs.16550.50

C)Rs.18150 D)Rs.16540

Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3210111049&qwer=45)
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Question No. 46

TR T5H HT IRTT A §U, TORT A Fgl, "I§ A 7§ & AT A shelleh & §1" T3h Towr ¥ HA wEOT &2
INE i B)&AT
C)dg= D)s<r

Introducing a girl, Rajesh said, "She is the only daughter of my brother's father." How is the girl related to

Rajesh?

A)Niece B)Mother

C)Sister D)Daughter

Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3210111049&qwer=46)

Question No. 47

1966 # YuleT #l AT JgIgY AR Y 7Y & 918 AR & HARA Jui 7 & &9 7 Fo=faf@a 7 & e

F Far ar?
A)ARRSY a8 B)sfexr amefr
C)=RuT g D)[elsT{T ol =fer

Who among the following acted as an interim Prime Minister of India after the death of Prime Minister Lal
Bahadur Shastri in 19667

A)Morarji Desai B)Indira Gandhi
C)Charan Singh D)Gulzari Lal Nanda
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 47) (objection.aspx?qwr=3210111049&qwer=47)

Question No. 48
ar dEa? 39 yER § B 3 AeT T AT § 4 : 7. AR WS WEdm # 4 do7 ;v I §, ar e 3
5 g ST §1 §a¥ 997 HEAT T Il G|
A)36 B)64
C)56 D)48

Two numbers are such that the ratio between them is 4 : 7. If each number is increased by 4, the ratio
becomes 3 : 5. Find the larger number.

A)36 B)64
C)56 D)48
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3210111049&qwer=48)

Question No. 49
Rd 7 e WeR & GST §?

A)2 B)4
C)3 D)1
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How many types of GSTs are there in India?

A)2 B)4
C)3 D)1
Answer Key: C  Your Response : B (Wrong) Raise Objection(Question No. 49) (objection.aspx?qwr=3210111049&qwer=49)

Question No. 50
WA FY: 8.7 - [7.6 - {65 - (5.4 - 4.3 - 2)}]

A)2.5 B)3.5
C)8.5 D)5.5

Simplify: 8.7 - [7.6 - {6.5 - (6.4 - 4.3 - 2)}]

A)2.5 B)3.5
C)8.5 D)5.5
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 50) (objection.aspx?qwr=3210111049&gwer=50)

Question No. 51
fArafaf@a Sl #r Jauet § 96 AR A RE 1w g # 3w &) ) B fr v g 3k & g wewen:
39T (T ¥ wad o), 7Y (Wl F W@ wmn) R AT §1 ) GHEAT F Ao F R B, S A Ager ik
3y geetr FATT A Fad T A& T II) AgT A I3 FEH BN T F Qe A 3 AMoreh oo F wed 73
A A T IV) AigT fr g9 B A F Q) ToT W9 AR Fowew Al V) AT F & AR = § e @
¥ o IR AR & 93 AR s, At & dWiar & &3 €1 VI) Mg AR T AR 3R Asr F g7 §1 V)
e F@& Fr g 1 Halew, Vo F HFA wAT g2
A) ST B)sget
C)TalY dg«T D)ser

Read the following information carefully and answer the question given below. I) Mithran has a daughter and
two sons Usha (youngest of all), Raghu (eldest of all) and Suman respectively. Il) Suman married Roja, the
eldest daughter of Mr. Mohan and his wife Sumathi. Ill) Mohan married their youngest daughter to the eldest
son of Mr. and Mrs. Sharma. IV) Mohan youngest daughter had two children Sandeep and Sanjana. V)
Mohan have two more children, Roshan (Younger than Roja and Elder than Bhaskar) and Bhaskar, both are
elder to Seetha. VI) Rohan and Raju are sons of Suman and Roja. VIl) Leela is the daughter of Sandeep.
How is Sanjana related to Roja?

A)Niece B)Sister
C)Cousin D)Daughter
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3210111049&qgwer=51)

Question No. 52
UPSC & 3rexret #r fgfaa @l aear 872
A) FEITTHET B)Irsgufer
C)9Rd & HTT Irarder D)citehaer 31egel
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Who appoints the Chairman of the UPSC?

A)Prime Minister B)President
C)Chief Justice of India D)Speaker of Lok Sabha
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3210111049&qwer=52)

Question No. 53
I x F 20% F 10% = ¥.5 §, @ & AT AT N
A)E.230 B)%.245
C)%.240 D)%.250

If 10% of 20% of x = Rs.5, find the value of 'x'.

A)Rs.230 B)Rs.245
C)Rs.240 D)Rs.250
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3210111049&qwer=53)

Question No. 54
IR Sietomiaal (NCST) & foT gger TS 3T S AfSa g3m ar?
A)3tder 2001 B)&ARI 2004
C)& s 2004 D)ARI 2000

When was the first National Commission for Scheduled Tribes (NCST) constituted?

A)April 2001 B)March 2004
C)May 2004 D)March 2000
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3210111049&qwer=54)

Question No. 55
T T Th g3 IR T Hdpeled TAR Fed H 99T g1 38 g W 15% F o167 g § Siaih Helperet
W 15% #r gifer gl &1 36Hr For AT A1 @iy whowra AT RS
A)2.75% ST B)1.75% @I
C)2.25% @Ifer D)1.5% @msT

A person sells a watch and a calculator for the same price. He makes a profit of 15% on the watch and incurs
a loss of 15% on the calculator. Find his overall profit or loss per cent.

A)2.75% profit B)1.75% loss
C)2.25% loss D)1.5% profit
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 55) (objection.aspx?qwr=3210111049&gwer=55)

Question No. 56
fArafaf@a st @ araurEiqds 9§ 3R A e 1w g #1 3e) &) 301 3R =g, Pealer IR g Weoret
¢ Quet IR e, e 3k e dor €1 O 3R dua, Brde 3R pealer Faa &1 30T 3R A, gidr
IR Fsfica Qua §1 Amfaf@a & & *ia frde a8 Qorar 872
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A)ErTeT B)dg,
C)fearer D)37%0T

Read the following information carefully and answer the question given below. Arun and Chandru play football
and hockey. Deepan and Dinesh play badminton and cricket. Chandru and Deepan play cricket and football.
Arun and Dinesh play hockey and badminton. Who among the following does NOT play cricket?

A)Deepan B)Chandru
C)Dinesh D)Arun
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3210111049&qwer=56)

Question No. 57
el e 35 ol v AT Y 15 a¥ § 3PN Rarw A I o afAer Hr S §, o e I & 9§ T3
STl 81 e #r 3y T FX

A)50 % B)56 a¥

C)45 a¥ D)51 a¥

The average age of a class of 35 students is 15 years. If the age of the teacher is also included, the average
increases by one year. Find the age of the teacher.

A)50 years B)56 years
C)45 years D)51 years
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 57) (objection.aspx?qwr=3210111049&qwer=57)

Question No. 58
¥, 3 3R gar T HR 45 R §1 A 31 R el F sihed SR 40 R § 3R e T g @ 43
fFam &, a9 3 §F R FT IaT TV
A)31 TRarm B)26 farr
C)17 foram D)20 feam

The average weight of Anu, Abi and Subi is 45 kg. If the average weight of Anu and Abi is 40 kg and that of
Abi and Subi is 43 kg, then find the weight of Abi.

A)31 kg B)26 kg
C)17 kg D)20 kg
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3210111049&gwer=58)

Question No. 59
1287 + 11(13) = AT Ad e
A)13 B)11
C)7 D)9
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Find the value of 1287 + 11 of 13.

A)13 B)11
C)7 D)9
Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 59) (objection.aspx?qwr=3210111049&qwer=59)

Question No. 60
ar HEATHt T AOTEG 120 § 3 3% et Fr Aer 289 ¥l HEABHT F Aer AT A
A)20 B)23
C)196 D)169

The product of two numbers is 120 and the sum of their squares is 289. Find the sum of the numbers.

A)20 B)23

C)196 D)169

Answer Key:B  Your Response : C (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3210111049&qgwer=60)
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